Round 1963 to the nearest
thousand =

If a =3, whatisa+ 19?
Find 10% of 185 =
3645 + 27 =

13-4.7 =

What is the value of the
underlined digit? 71543
3 7

-4 —-=

8 8

196 x 14 =
720 + 100 =
82 =

Round 25753 to the nearest
thousand =

If a =3, what is 7a?
Find 20% of 185 =
4624 + 34 =

26 —18.04 =

What is the value of the

underlined digit? 865364
5 11

7 14
1536 x 14 =

175+ 10 =
93 =

Round 156890 to the nearest
thousand =

If a =3, what is 24a?
Find 25% of 185 =
7104 =48 =
37-23.003 =

What is the value of the
underlined digit? 8624635
2 4

5 6
3644 x 14 =

64.8 + 1000 =
13° =



Round 1963 to the nearest

thousand = 2000

If a =3, whatisa+ 197 22

Find 10% of 185 = 18.5
3645 + 27 =135
13-4.7=8.3

71543 =70000
R AT
196 x 14 = 2744
720+100=7.2

8% =64

Round 25753 to the nearest

thousand = 26000

If a =3, whatis 7a? 21
Find 20% of 185 = 37
4624 + 34 =136

26 —18.04 =7.96
865364 =60
ASTREvEESvaES
1536 x 14 = 21504
175+10=17.5

9% =729

Round 156890 to the nearest

thousand = 157000
If a =3, what is 24a? 72
Find 25% of 185 = 46.25
7104 = 48 = 148

37 —23.003 = 13.997

8624635 = 600000
2 4 _32__ 2 1

5 6 30 30 15
3644 x 14 = 51016
64.8 - 1000 = 0.0648

13°=2197



